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Which of the following is a physical 

observation?

a) Burns in oxygen

b) Melts at 76 °C

c) Forms a white precipitate

d) Decomposes in air
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Which of the following is chemical process?

b)  Removing the salt from sea water

c)  Separating water into hydrogen and oxygen

d)  Dissolving coffee in water

a)  Removing fish from water
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Ethanol boils at 173.1 °F.  This temperature 

in K is

b)  351.5.

d)  401.4.

c)  387.1.

a)  337.4.
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Which of the following is a 

pure substance?

• Sweat

• Beef stew

• Apple juice

• Ice
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Which of the following is a 

heterogeneous mixture?

• Salt water

• Chicken soup

• Hydrogen peroxide

• Ice
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The density of gold is 19.31 g cm–3.  What 

is the volume of a piece of gold weighing 

294 g?

a)  5.67 × 103 cm3

b)  15.2 cm3

c)  0.0657 cm3

d)  5677 cm3
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Which of the following is incorrect
about  nonmetals?

a) They typically have a low boiling point.

b)  They are found at the right-hand side of the

periodic table.

c)  They are good conductors of  electricity.

d)  Some are colorful.
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The most stable isotope of silver is given by

How many protons, neutrons, and electrons does it have?

a)  107,  47,  47

b)    60,  47,  60

c)    47,  47,  60

d)    47,  60,  47

p,      n,    e
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Which of the following determines 

the identity of an atom?

A) Number of protons

B) Number of electrons

C) Number of neutrons

D) Total number of protons and neutrons
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What group of elements does the shaded area in 

the following periodic table indicate?

a)  Alkali metals

b)  Alkaline earth metals

c)  Halogens

d)  Noble gases
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Which of the following elements is 

an alkali earth metal?

A) Li

B) Fe

C) Ca

D) Ge
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Which of the following correctly illustrates the 

valence electron configuration of sulfur?

a)

b)

c)

d)

3s 3p

3s 3p

2s 2p

3s 3p
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Which of the following is the correct electron 

configuration for bromine?

• 1s22s22p63s23p64s24d104p5

• 1s22s22p63s23p64s23d104p5

• 1s22s22p63s23p64s23d104p6

• 1s22s22p63s23p64s24p6

• 1s22s22p63s23p54s24p5
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